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However the 8250, which states, ‘that the ratification of a Get is only
through its signatories’, I could say it is according to »''9

OVERVIEW

Our X3 explained why it was necessary for 2XmWw to clearly establish all three!
nwn in cases of a 09w without a 770 and according to TT¥9X . Regarding the
second mawn (of 1Pam> Yo7) since the mwn concludes PMMIT2 RO VAT DR PRY
(which is the view of n"1), we might have assumed that the beginning of that 7awn
(1am> 9on) is also according to n'"M, therefore YR teaches that it is according to
X"9 and 172m> 9277 means only the 09 but not the 770, Our NMdOIN reconciles our
X3 with a seemingly contradictory X773,

mooIn asks:
= N 2395 1INY? 2249 N NPT 229 1Y 2P (x93 91 DIYT 2V PI 91027 NN

It is astounding; for previously in the end of the second P99, we find that '

“'" 2R establishes that? 7awn (of 2°w2 9571) according to »''= -
= AN ATYON 229 1IN 229 9N NIN 93 93 NAY INRYT 3921017 NINNN NYY 79999

And the X3 challenged this ruling of "3 7»X 1" from the 7wn regarding

92y, where °''9 92K 17''229 stated that the 71wn there is according to X' -
- 13099 797 N2OIN 171353 SNTININ YWY PH1

And the X123 was forced to answer that the two 2°87mR (namely 1" and 1"227)

argue as to the opinion of >'"9 (whether he establishes the nviwn according to X" or

according to n"7); MaoIN concludes his question -
- TPIN 2399 92INNT XONN 1MNPIT 23 YY GRT NI PNUN NN ROVIP IND)

But what is the difficulty; the X1 here indicates that even though we have

established that 71wn of 9215 ¥ Pand PX like X' -
- NI Y299 DIV Y911 NONN DAY 199D DY) Yan

Nevertheless we can rightfully establish that 71wn of 2w %17 like 2'"-!

In summation; from our X3 here we see that even though Xmw established the first mawn (of

1'1) (2,80) 72wmm 9y 1amd PR, 2) (2,20) 2w 7, 3) (X,10) P03 2001 2mo7.
2 That is mwn # 2 (see footnote # 1).
3 This is nawn # 1 (see footnote # 1)
4 The X3 in this question seemingly assumes that both n1wn follow the same Xin, and since 13m° ' X 17 rules in
mawn # 2 like n", how is it that in 7awn # 1 3am1° " KR 11"227 rules like 8"1. It is a contradiction in the two rulings of
" (even though they are different n1°1wn). See ‘Thinking it over’.
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12n) like X"9, nevertheless he still could establish the second mwn (of am> %o1) like n'
(therefore he needs to be very specific and inform us that nevertheless he is establishing the
second mwn like X"1). Why then does the &723 previously find it difficult to understand that >"
in the first 71wn rules like X", and in the second 71wn he rules like n"7 (since this is exactly what
the X3 says here regarding PXmw that he could have done the very same thing); why is there a
contradiction in the rulings of 111 "1?!

NID0IN answers:
= 5NN 1N NINNT 92NV DIPN DN N2 SNMDIN NYIYY 29 DY GNRT PHN 13939 99IN)

And the 5""9 answers that even though the X 3 here makes a Xn1299% regarding
the second 71wn, but nevertheless logically both n1°awn should follow one Rin —

Mmoo continues:’
- 855017 RPYY DIV NN 2299 1Y 91 13N 29 INT PPIST 70 YaN

However regarding this 71w (of 121 2m377) in our P99, certainly "' establishes it

according to »'' because of the concluding reasoning, namely -
= 99TPHN 929 IND NW 9TYHN 39 NOIDTNH

Since the X290 of our 71w» mentions R'"9 therefore the Xw™9 is not according to
K" —

mooIN goes on to show that *"3 follows this reasoning (of 121 XY XKW1 121 XD077):
= 109NIW 993 Y199 230N DONN (3,15 97 mm35) PON 7T 7993 1IN 229 9INRP N DYLNT

5 XM or necessity refers to the reason why it was necessary for 981w to repeat his ruling in all the nywn.
6 There is a difference between the logic of a kN3¢ and the logic in the ‘real’ world. A Xm>X is used to forewarn
a mistaken opinion, like in our case here; meaning that if X% would have only stated in the first 7awn that it is
according to &"9, one may have mistakenly assumed that the second mwn could be according to »", therefore in
order to prevent this mistaken assumption, ?R1mw felt it necessary to repeat himself. However in actuality there is no
logic in assuming that two n11wn which follow each other in the same 75 (and may be part of one 71wn) should be
according to two different a°Xin. Therefore the X na rightfully asked how can *"1 rule differently in these two nviwn
that one is according to X" and the next one is according to »".
7 We have just concluded that regarding the first two n1awn (which are 927 and 2™w> 937) there is a dispute
between 0°X7K whether " established both of them according to &"9 or according to »".
8 The X m3 on this Tmy concludes the XM X of HXw that it was necessary for him to state that our mwn is
according to X", because one may have thought since in the &9°0 the name of X"9 is mentioned specifically ( &"
431 17122 °wan) it would stand to reason that the Xw> (where no name is mentioned) is not X", therefore >Xmw
insists that also the X is according to R".
% This logic is mentioned in regards to a Xm>¥, which mpoIN just told us does not bind us in the real world,
therefore one might assume that the np1onn between the two 2°X1MmK in the opinion of >3 (whether the first two
nyIwn are according to X" or #"7), would carry over to this miwn as well; therefore n190IN negates this notion and
states that regarding our m1wn there is no dispute; all agree that "1 will establish the 7wn according to »"9, because
*" agrees strongly with the 8720 of the Xm>™¥ that X" 1Y Xw>1 X" X507 as M2OIN points out.
10 See ‘Appendix’. 131> " maintains that the X7 of the mwn of NYAX "7 (in 8,12 NM2°) is incomprehensible unless it
follows the view of 1v%& '1; however it cannot be that the Xv"1 is X", since the X9°0 is X", therefore we must
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For it is on account of this reasoning (121187 X1 121 X9°077), ¥''1 asserts in 7D

1R '7; ‘I do not know who taught the 71wn of n»nN’.
:NIP TN INPNPING 12590 NP NIIN NPID NTNA 123NNT NN SNINAT 110

And additionally; regarding the first two nyawn (which are o w3 9571 ,721)
which are in the same P99, there is a greater urgency to establish them

according to one Xin; however our m1wn which is in a different 779, there is no such urgency
that it should follow the same Xin as the n1°1wn in the previous p75.

SUMMARY
The logic of a M>™X need not be that compelling.

THINKING IT OVER

mooIn asks, why does the X3 assume that the two 2°X7MX in the name of "9
argue whether the n11wn are according to X"9 or n"7 perhaps they agree with the
XM1>7x of XMW that 2277 is like X" and °am> 9077 is like »"1 (because the mawn
concludes 1nmn2 XPX w7 0P PRY). However one may argue that there is no
comparison, for X1 establishes 7211 like X"9 (even though that the 7awnn mwws
of w5 1% 11NN WHN "21m1a 120> indicates like n"9), because X rules like n'"A,
however once " ruled like »" by 2°2m> %517 (indicating that the 712%7 is like n"™),
why would he establish 2217 like "9 when the m1wna nwows follows n"?!13

APPENDIX'*

The mwn states' if there were four brothers (77377 ;"% ,wnw ,721%7) two of them
married two sisters (12187 to X and PYNY to HnM); then 128 died first (childless)
making his wife 212°% P71 X7 to A7 M7,'° (and neither "% or 777> were ¥ or
02>n her), then Nynw died (childless) making his wife 17 also [PPT to 773 M5.

ignore this mwn. It is evident that since according to ", this concept of X"1 R? Xw™ R"7 82°071 (Which the xm3
cites here [merely] as a Xn1>X) is so powerful that it negates a stated mawn, it is surely therefore strong enough to
teach us that our 71wn here cannot be X", but rather according to »".
"' mooin is offering an additional explanation why he assumes that in our mwn there is no npY2nn between the two
o°X1R regarding the view of »" (all will agree that this m1wn is »"12), even though previously (see footnote # 6)
mooIn insisted that all these n11wn should follow the same Xin. See (however) the w"w" who deletes the word 731.
12 Regarding the first two n11wn (9217 and 1213 9377) which are both in the same 79, therefore each of the XK
will maintain that both n1wn are according to the same Xin (either X" or »"M); however our m1w» which is in a
different P75 there is not that strong of a reason to assume that it must follow the same Xin as in the previous p75.
13 See yw 19 and o1 17
14 See footnote # 10.
15 %,19 .
16 13%% is not 7PIPT to 1AW since sMYaw wife 17 is s'TIRY sister so there is no @12° NPT
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The mawn rules that the two sisters need to receive 7%°217 but they are not permitted
for 012° since each one of them is NPT MR, which is 131277 Mox.!7 If 77 7
were 21 Rk? 027n (respectively) they must divorce them. The 72wn then continues
(in the ®9°0)!® that 71v"% ' maintains that this is actually a np17mn between w"2 and
"2 whether they are required to divorce them.

13m> " rules in a similar case!'” with only three brother (we’ll remove 7717°) that »%
can perform n1x¥°>n on %11 (whose husband 1wnw died second) and then he can be
7X% 021, whose husband (3721%7) died first, but not the other way around.?* The
reason is that when 12187 died "7 was permitted to be X7 02°°1 since 1Wnw was still
alive and there was no WNPPT NMINR, so even though when Nynw died, nX? did
become NPT NMINX, nevertheless once 17 was 210 v so XY is no linger niny
PPt therefore she is *19% nan.2! In short °"1 maintains that a 7MW 792 (the
status of 1IX? after 128" died), and was then 770X (her status after w»w died as an
NPT MInR), and was finally 79mm 737m (when »% was 9n9 y9n), the rule is 791nm
TWRAT 770972 so M2 can be aRY Da7n.

The X723 there asked on " why does our mwn rule that na>»nn X9 Mxn. Let
one brother (1?) be y211 the second 2 (7r), so AX? will be 212°% nann?! To
which *"1 responded, "1R1w "» ¥71° "X N1AXR'; he does not accept this as a valid mwn,
since °'"M maintains PWXII 77°N°7% NI AN AT TN0RI NI 0.

The X3 then asked,?? let us say that the Xin of our m1wn (which prohibits 212%) is "
T13°%% who maintains, N1 1HY 770K MORA NAR VW PHY 3TYY 10, and argues
with *"3 who maintains WX 77°0°7% DANG TN T TU0KD 0w n20. To
which "7 responded that the Xin of (the Xv™1 of) the 7Iwn cannot be X", since
X" IR? Rw™ X" ®0071!2 Therefore " disregarded the mwn completely!

17 The 1137 consider a 2> who is 212°2 AP77 as if she were sort of (quasi) married already to her o2. Therefore 2
(for instance) cannot be 782 03>n, since 7m0 is also APIPT to M2, so he is marrying PPt MAX (his ‘virtual wife’s’
sister).

18 See footnote # 23

199,10,

20 He cannot be nx» 11 and then be %r1 027,

2l However if he was first %> 2111 (after wnw died) he cannot be Y11 02»n, since as soon as 711 was 012°% APIPT, she
was 70K because of PPt MR (of 7XkY) and if a n2* was initially 012°2 7770K she can never become 212°2 N,

22 x,m0.

2 See footnote # 18.
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